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QUESTION 1

A customer attempts to set up Subscription Ordering on their site using the steps outlined in the ABO Implementation
Guide. The site has been previously set up with BOM Mapping for a specific model. Upon testing the Subscription
Ordering functionality for this model, they notice that no values are populated in the Action Code Transaction Line level
attribute when adding line items to their Transaction. Which statement is true? 

A. They added an incorrect reverse mapping entry for the model in the Oracle_aboPart2Model table (Admin > Data
Tables). 

B. They selected an incorrect function for the "BML Util Function" selection under BOM settings (Admin > BOM >
Declare Util Function). 

C. They specified an incorrect site URL in the abo_initializeContext BML Util Library function (Admin > BML Library). 

D. They provided incorrect BOM Mapping values for the model in the BOM Item Definition and BOM Item Mapping
tables (Admin > Data Tables). 

E. They failed to incorporate conditionals to handle action code statuses in the formula for the Price (List) Transaction
attribute (Admin > Process Definition > Formulas). 

Correct Answer: D 

 

QUESTION 2

Which statement is a proper definition of a Punch-In? 

A. Punch-Ins are links that hook into a specific Commerce process in the system. They can be used to navigate directly
to a given Commerce process in your application. They can also be used to jump into a specific Commerce process
from an external website. 

B. Punch-Ins are links that hook into specific product families in the system. They can be used to navigate directly from
a product family to another in your application. They can also be used to jump into a specific product family from an
external website. 

C. Punch-Ins are links that relate into specific parts in the system. They can be used to search directly for a given part in
your application. They can also be used to search for a specific part from an external website. 

D. Punch-Ins are links that hook into specific pages in the system. They can be used to navigate directly from one page
to another in your application. They can also be used to jump to a specific page from an external website. 

E. Punch-Ins are buttons that take you to specific pages in the system. They can be used to navigate directly from one
page to another in your application. 

Correct Answer: D 

 

QUESTION 3

Which operation is allowed in a BMQL query? 

A. SELECT and UPDATE 
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B. SELECT, INSERT, and UPDATE 

C. SELECT 

D. SELECT, INSERT, and DELETE 

Correct Answer: C 

 

QUESTION 4

Identify the three data types available for part custom fields. (Choose three.) 

A. "Currency" 

B. "Float" can be changed to "Integer" 

C. "String" can be changed to "Single Select Menu" 

D. "Boolean" 

E. "Date" can include time 

F. "Multi Select Menu" 

Correct Answer: ABC 

 

QUESTION 5

Identify two supported procedures for moving commerce library functions between environments without overwriting
other functions. (Choose two.) 

A. Full commerce migration 

B. Webservices 

C. Granular migration 

D. Migration packages 

E. Bulk download/upload 

Correct Answer: CD 
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